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Ly — Lx = 135° - 70° = 65°




11. ohe I35 28 AABC 94 BD = DC = AC ©]1 /BAC = 76° &
o, zx O] 27|17

@® 100° @ 104° ® 108° @ 108° G)114°

2/DBC = /CDA
(DBC = 38°
T x=3x38° =114°




12. o8 IHNA /A + /B4 £C+ /F 4 /G 2 27]&9

@ 460° @465° ® 470° @ 475° O 480°

35° + 40° = /H + /I ©]|t}.

27+ o] Yz+9] §lol 540° o]BE=

LA+ /B + £C + /F + £G + 35° 4 40° = 540° ©]t}.
w2kA] ZA + /B + £C + (F + £G = 465° ©|t}.




13. S IHNA za+ b+ e+ ¢d + Le O] A7)=9

@360 @ w500 @500 @ 6300 G 720°

La+ b+ Le+ td+ Le & A7)= 2718 9] 9)7F9] 77]9] shat
ZroBv = 360° o|t}.




@ Wizhel 2719] g2 720° °]tt.
(@)sBAC = AABE

® T Wzte] 271+ 100° ©]ct.
@ RE g7t Zol= b2tk

® (FAE = 36°

B

® WZe] 3719] g2 540° o]t}
® g WZ+e] 37]+= 108° o]t
@ 2E g7 e] dol= 2t

® (FAE = 72°




15. o2 1994 AB//CD, AD//BC ©]1 AABD 2] Y°]7} 40cm? &
o, gABCD 9] {o]& FL5}H?

A D
B C
@ 70CIH2 @ 75CII12 @ SOCmQ
@ 85cm? ® 90cm?

AABD = ACDB (ASA &%)
. (OABCD 9] H0])= 40 x 2 = 80(cm?)




607

40°

Fo)21

dgolnt.

H 10cm 2ol o] &F & 2} 40° 2} 60° 7}

LHebu
® Fold Z+o] 2717} 40°¢F 80°ol B2 U] Zte] 27| =

o
—

oj

™

==

o

()

Ne)

o

o

<t

o

N

il

00

18] oy
o
s
iy 75z
g <
S Z
%m_h
<N
o A
()
e
S w ™
sy




O

17. thg 179] HAZFABCD o4 EC = FC 9 o, & 5 87 g
2E BE DR (47 27)

A D
F
B i f C

@
(@)»ABC ¢ AADC £ ASA @Foltt.

o

S AAFS B 3ol

® AABE = AADF
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